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Read the following statement and explanation and answer
as per the options given below :
Assertion : The value of van der Waals’constant ‘a’ is larger
for ammonia than for nitrogen.
Reason : Hydrogen bonding is present in ammonia.
(1998 - 2 Marks)
(a) Ifboth assertion and reason are correct, and reason is
the correct explanation of the assertion.
(b) Ifboth assertion and reason are correct, but reason is
not the correct explanation of the assertion.
(c) Ifassertion is correct but reason is incorrect.
(d) Tfassertion is incorrect but reason is correct.
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(a) 'a' indicates the magnitude of the attractive forces
among the gas molecules, which increases in NH; due
to H-bonding.




